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1.(25%) Give a definition of what an idiom is. The expression fang4 gel-zi A& can be taken literally or
idiomatically. Use metalanguage to establish conceptual structures to capture both the literal interpretation and
the idiomatic interpretation of the expression in question. Metalanguage consists of most basic and limited
linguistic expressions used to pin down the meaning of an expression. Usually a proposition is looked upon as
being made up of a predicate taking a certain number of arguments each of which denotes a semantic role like
agent, patient, experiencer, theme, instrument, etc. Below is a range of constructions in which the expression &
4B+ can occur in its idiomatic sense, viz., ‘fail to meet sb as arranged, stand sb up’:
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Examine the constructions carefully and figure out the syntactic and semantic constraints when it is used in
its idiomatic (rather than literal) sense. As a hint consider each of the following sentences:
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1t is totally unacceptable if it is taken idiomatically. What does the expression —% or —7% figure in the

pinning down of the exact interpretation of the sentences involved? Is there a change in the referential role of
the noun 48+ when the sentence takes on its idiomatic sense?

2. (25%) Below are Hebrew examples featuring two lexical items ‘sit’ and ‘write’ that occur in three sets of
paradigms differentiated in terms of three tenses: past, present and future. Suppose that the root associated with
the meaning of ‘sit’ is y-sh-v and the root of associated with the meaning ‘write’ is k-t-v. Analyze the formation
of the following paradigms in the following manner: first, rewrite each form, replacing each consonant of the
root with C, but retaining the value of the vowel and of any non-root consonants. Then describe the formation
of the past and present tense for each person (1sg/pl, sm/f.sg/pl, 3m/f.sg, 3 pl).

past
a | yashavti I sat katavti | I wrote
b | yashavta You (m.sg) sat | katavta | You (m.sg) wrote
c | yashavt You (f.sg) sat katavt You (f.sg) wrote
d | yashav He sat katav He wrote
e | yashva She sat katva She wrote
f | yashavnu We sat tatavnu | We wrote
g | yshavtem You (m.pl) sat ktavtem | You (m.pl) wrote
h | yshavten You (f.pl) sat ktavten | You (f.pl) wrote
1 | yasvu They sat katvu They wrote
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present
a | yoshev Sit (m. sg) kotev write (m. sg)
b | yoshevet Sit (f. sg) kotevet | write (f. sg)
¢ | yoshvim Sit (m.pl) kotvim | write (m.pl)
d | yoshvot Sit (f.pl) kotvot write (f. pl)

Now add the following Hebrew data to those provided above. How can we express the formation of the future?

How does its formation differ from that of the past and present?

future
a | Qextov I will write
b | tixtov You (m.sg) will write
c | tixtvi You (f.sg) will write
d | yixtov He will write
e | tixtov She will write
f | nixtov We will write
g | tixtvu You (m.pl) will write
h | tixtovna You (f.pl) will write
1 | yixtvu They (m) will write
j | tixtovna They (f) will write

3. (25%) Describe the sound change and relative chronology needed to account for the following data from
Proto-Slavic and Russian. Note that [I] and [u] are short vowels. In other words, there are at least four types

of sound change involved which are sequentially ordered.

Proto-Slavic Russian gloss
1 *greblu grlop he rowed
2 *nesu nos he carried
3 *vedlu vol lead
4 *grobu grop grave
s *rodu rot gender
6 *dInl den’ day
7 *yIsl veg all
8 *metlyu m’ol he swept
9 *plsu pos dog
10 *domu dom house
11 *1N0SU nos nose
12 *volu vol bull
13 *konl kor’ horse
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4. (25%) More than one phonological rule is involved in the derivation from the basic form to derived forms.
For each adjective stem state what the underlying form of the root is. Pay attention to the difference

between [b, d, g] and [B, &, y] in terms of predictability. Specify the phonological rules involved and the

order in which they are applied.

masc sg fem sg gloss masc sg fem sg | gloss
1| okel okel’s that mal malo bad
2 | sipil sifilo civil askerp askerpo | shy
3 | fop fope drenched | sek seko dry
4 | aspes 95pEesd thick gros groso large
5 | baf bafo short kof kofa lame
6 |tot toto all brut bruto dirty
7 | pok poka little prosis prasize | precise
8 | fronses fronseza French grize grey
9 | kezat kozado married bwit bwide | empty
10 | rotf 1930 red botf bo3ze crazy
11 |omp orfo blind Park Paryo long
12 | sek seyo blind fofuk fafuyo heavy
13 | grok groye yellow puruk puruys | fearful
14 | kandit kandi®a candid fret fredo cold
15 | soyu soyura sure du dura hard
16 | soredo saradore reaper kla klars clear
17 |mu nug nude kru krus raw
18 | flopdzu flopdzo soft dropu dropa lazy
19 | ogzakts ogzakta exact alBi slfino | albino
20 |sa sang healthy pla plane level
21 | bo bons good sore soreno | calm
22 | suflim suflimo sublime | al alto tall
23 | for forto strong kur kurto short
24 | sor sordo - deaf ber berdo green
25 |san santo saint kolen kolents | hot
26 | prufun prufunde deep fakun fokunde | fertile
27 | desen dssenta decent dulen dulents | bad
28 | ostudian ostudiants | student blay blapke | white
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Note that masc, fem and sg stand for masculine, feminine and singular respectively.




